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Using A3, the OLS eslimator is W\A.-Meo/,, and EB)=f.

Now, b-F = KX X'y =

= (XX)Y'X'(xB+e) - £

(XXV'XX £+ (Xx)'Xe = £

i

(X’x)'x'¢

S,V (B) =Flxx)'X'e z’><(x’><>“]

By A5, the X l/l'lm/rz)( s V)on—f‘ana/om,. So :

V) = (X)X E(EE)YX(xX)

By AL, E(g2) = o1, . S

V) = (XX) X' x (X'x)™

= T (x'X)7.

WQ are lmﬁ/lc/il/v QSSUWlma 7% 1Z 1%2 0[5 6’57//:444 or

ex._,,s%s,. So e q/m neec/ A2,



b) TP Hhe mock! .‘thuJes an u'mLerce,p‘il‘,, +Ley\ :

R2= | - SSE

SST

o ["or‘i SSE =0 , e'e = O; ano/ se €=20.,

This s en / Y 7[Vue L He _regresSien Mc//Jf,( ,,
an._ 1 n ;lefc 9/7:[,_24 1L A I‘S case , we /m,v,e (@ ,;Pf" 74’(%
1

L4

A E(é\;‘) = n-c @ , then :

-C
Le'{ g: 4 9 Py ‘/4611 g LS unél'afec/ ;[;r 9

_Z,C we ré’lﬂ ace ”C Y wl'#\ ”/<”. i w# ”6‘_1")

fOA
e
/
then 6 = 52/. Ouvr esf.img,for Lor ﬂe variauce cf

the error ,lerm.




[7) By #\e GQ.US.S "Markl\m/ ﬂ\eo/em Wwe__ knaw ﬂwnt

I\C /g 1S o [inear CUAL‘I Unélqﬁet/( eS‘AV*lq#OV‘ 7[/\94 -

V(g - V() = a p.s.d. medrx

Tl/\ql» ;5 ﬂe Variqnce o)c ,5 cannml be /6’5_5 %Atm ‘/49

\/AV‘H&V](G’ op b

6.6\) K*= ssR Ivﬁ /lc model ;‘nc/uc/:; am /ha/ercép-/,, fhen

SST

V Kz-“- / - S-SE/. WAEPP SSE = G)C,,,,.,

SST

Now/, b s derived by: min €’e

b

Ccns.‘a/er 7lwc O/i?/';fﬂizél‘/"cv; Ipﬂfé/emj ‘.

B (y=Xb) (y-Xib.) (1)

:Z:'E (y-—X,E,~X;£2,)(y~)(,$,_ngi)' /2);

Op?zwnzq)[lcn ch!/tn/) (7) I‘S )UJ'/ OD/ Mqu'/laV)

Proélem [2) SuéJec‘lL 710 #e C'Onjlqu 14/ Ifé =0,

//ence ﬂe 5UW] cp §0(/0|'co/ res. C/Uq/S 1Crow\ [R)

CO\nAc7L be h q/\er ﬂ\cm Lrom [7) and the R<

,D,DM (2‘) ww_sv[ fe /qucr




9 Algebraically

MY = (T XXX )X = X - XOUX)'X X

= X-X=0

 Labiliely:
M 150 ”fes-‘o/uq/ waker " W/LL‘LM ore - MU/ !"P/'ico/

L4 / /
/oy o vec nlcfj /7[ rffqll,cs ﬂe residva /s é‘fém
—an. OLS r ¢9 ressien aoé ‘/A 4 )[ _ve (lor , - EA X ,}4/5):1(&)
M )( 1S Creq '!"”j - %Ae /ES:L‘/U«I{cpC’om _a_yeqression

C.ﬁ X o X T ‘/[,‘c Call, e have /I;Der/‘fnl opfi;

anolﬂ ) 14\( ) /9510/(/01/} are O .

CDe=y=-y=y-Xb=y-XKNXy

g (T-X(XX)'X)y

(B

= (T-X(xX)" X WXA « €)

= XA e £ XXX xF -X(XX) e

-

S, £(e) = 0-0 =0.

Here, we have vsed AZ: ECE) =0 wd ALl ek




R b> FNM | H\e ~Nor VM/ e%uq-[zfoél:s 1

X'Xb= XYy

- XXb - X/y,,,,‘: O

- X'(xb-y) =0

X'e =0

We on/y ncec/ 7[0 ] a.‘SSQn’tCA //n CoUr: 7[ y.




